| Efficiency vs Dxy |

0.2
<

S
#.18
>

D.16
D
D.14
©
0.12
0.1
0.08
0.06
0.04
0.02

........................................................................

........................................................................

o+

Rati

0.95

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

Frt_T Torigimat

| Efficiency vs Dz |

—=— DOM_MKF
—e— DOQM”mKFIt_TT JanUpdate-noErr
—— D mKEit

—— D mk

N 0.5
©
9.45
oy
_5 0.4
(&)
.35
()
0.3
0.25
0.2

.....................................................................

S Tttty Do
J . | fo oo

30 20 <10 0 10 20 30

TP dz (cm)

i JanUpdate-statErr
Fit JanUpdate-systErr
Fit“TT JanUpdate-bothErr




	Contents
	Page 1


